
LEVEL 1
128' - 3 5/8"

A

4"

07 14 00  - FLUID-APPLIED
WATERPROOFING

04 20 00  - GROUT SOLID

04 20 00  - WALL DRAINAGE BAFFLE

04 20 00  - WEEP HOLES

FOUNDATION WALL ASSEMBLY -
REFERENCE WALL SECTION J1/A3.1

WALL ASSEMBLY TYPE 1 (FACING
BRICK - SEE ELEVATIONS FOR
COLOR) - REFERENCE WALL
SECTION J1/A3.1

1' - 5"

07 25 00  - MEMBRANE FLASHING

07 25 00  - SPRAYED COATING MEMBRANE

05 40 00  - SILL BARRIER

04 20 00  - DRIP FLASHING

07 25 00  - TRANSITION MEMBRANE

05 12 00  - STL  ANGLE (S)

07 90 05  - SEALANT
03 30 00  - CONC  SLAB-ON-DECK (S)

MI
N.2"

10
"

LEVEL 2
139' - 11 5/8"

A

09 21 16  - GYPSUM BD-5/8"
09 21 16  - MTL STUDS-3 5/8"

05 40 00  - SILL BARRIER

E.O.D.
7"

WALL ASSEMBLY TYPE 1 (FACING
BRICK - SEE ELEVATIONS FOR
COLOR) - REFERENCE WALL
SECTION J1/A3.1

08 43 13  - ALUM STOREFRONT FRAMING

09 21 16  - MTL
STUDS-3 5/8"

08 80 00  - INSUL GLASS-CLEAR

04 20 00  - DRIP FLASHING

04 20 00  - WEEP HOLES

05 50 00  - LOOSE LINTEL09 21 16  -
GYPSUM BD-5/8"

05 12 00  - STL  BEAM (S)

07 81 00  - SPRAY APPLIED
FIREPROOFING

05 40 00  - FRAMING CLIPS FOR
FIREPROOFING

03 30 00  - CONC  SLAB-ON-DECK (S)

07 90 05  - SEALANT & BACKER
08 43 13  - STOREFRONT DEFLECTION HEAD

07 90 05  - SEALANT

07 21 00  - SAFING INSUL

05 31 00  - POUR STOP (S)

05 40 00  - CFMF 3-5/8" STUD

07 21 00  - SAFING INSUL
06 10 54  - FR WD BLOCKING
07 25 00  - TRANSITION MEMBRANE

07 21 00  - FOAMED-IN INSULATION

04 20 00  - WALL DRAINAGE BAFFLE
MI

N.2"
10

"

06 10 54  - ISOLATION STRIP

LEVEL 3
150' - 5 5/8"

A

05 12 00  - STL  BEAM (S)

05 40 00  - CFMF 3-5/8" STUD

05 40 00  - CFMF DEFLECTION HEAD
- MAINTAIN 3/4" GAP

07 81 00  - SPRAY APPLIED FIREPROOFING

09 21 16  - FRAMING CLIPS FOR FIREPROOFING

WALL ASSEMBLY TYPE 1 (FACING
BRICK - SEE ELEVATIONS FOR
COLOR) - REFERENCE WALL
SECTION J1/A3.1

07 25 00  - TRANSITION MEMBRANE

03 30 00  - CONC  SLAB-ON-DECK (S)

05 31 00  - POUR STOP (S)

07 84 00  - SAFING INSUL

07 21 00  - RIGID CAVITY WALL INSUL BD
SHIPLAP AT DEFLECTION JOINT

05 40 00  - SILL BARRIER

09 21 16  - MTL STUDS-3 5/8"
09 21 16  - GYPSUM BD-5/8"

09 21 16  - MTL STUDS-3 5/8"

1' - 5"

E.O.D.
7"

07 90 05  - SEALANT
07 84 00  - FIRESTOP

A

LEVEL 5
171' - 5 5/8"

1' - 5"

SHIPLAP AT DEFLECTION JOINT

07 25 00  - TRANSITION MEMBRANE

07 21 00  - RIGID CAVITY WALL INSUL BD

05 40 00  - CFMF 3-5/8" STUD

05 12 00  - STL  BEAM (S)

07 81 00  - SPRAY APPLIED FIREPROOFING

05 40 00  - SILL BARRIER
09 21 16  - MTL STUDS-3 5/8"

05 12 00  - STL  BENT PLATE(S)
04 20 00  - WEEP HOLES

E.O.D
7"

WALL ASSEMBLY TYPE 1 (FACING
BRICK - SEE ELEVATIONS FOR
COLOR) - REFERENCE WALL
SECTION J1/A3.1

05 12 00  - STL  RELIEVING ANGLE(S)

04 20 00  - DRIP FLASHING

07 25 00  - MEMBRANE FLASHING

09 21 16  - MTL STUDS-3 5/8"

07 25 00  - SPRAYED COATING MEMBRANE

04 20 00  - WALL DRAINAGE BAFFLE

07 90 05  - SEALANT

07 84 00  - SAFING INSUL

05 40 00  - FRAMING CLIPS FOR
FIREPROOFING

07 90 05  - SEALANT & BACKER

04 20 00  - FACING BRICK SOLID
CUT TO FIT

07 84 00  - FIRESTOP

A

ROOF T.O.S.
181' - 11 5/8"

ROOF ASSEMBLY TYPE 1 (EPDM) -
REFERENCE WALL SECTION J1/A3.1

SHIPLAP AT DEFLECTION JOINT

07 90 05  - SEALANT & BACKER
05 40 00  - CFMF PLATE

07 21 00  - RIGID CAVITY WALL INSUL BD

07 25 00  - TRANSITION MEMBRANE

04 72 00  - PRECAST CORNICE

04 20 00  - CAVITY VENT

07 21 00  - SAFING INSUL

05 12 00  - STL  BEAM (S)

07 25 00  - TRANSITION MEMBRANE

09 21 16  - MTL STUDS-3 5/8"
09 21 16  - FRAMING CLIPS FOR FIREPROOFING

07 21 19  - FOAMED-IN-PLACE INSUL

05 40 00  - CFMF 3-5/8" STUD

1"

LEVEL 1 - EXISTING
BUILDING

126' - 11 5/8"
04 20 00  - GROUT SOLID

WALL ASSEMBLY TYPE 1 (FACING
BRICK - SEE ELEVATIONS FOR
COLOR) - REFERENCE WALL
SECTION J1/A3.1

07 21 00  - RIGID PERIMETER INSUL BD

05 40 00  - SILL BARRIER

03 30 00  - CONC  SLAB-ON-GRADE (S)

04 20 00  - WALL DRAINAGE BAFFLE

07 25 00  - MEMBRANE FLASHING

04 20 00  - WEEP HOLES

07 25 00  - SPRAYED COATING MEMBRANE

03 30 00  - CONC  FOUNDATION (S)

07 21 00  - RIGID PERIMETER INSUL BD

32 13 13  - CONCRETE  WALK

07 21 00  - SHEET VAPOR RETARDER

04 20 00  - DRIP FLASHING

N
1' - 5"

07 90 05  - SEALANT

10
"

2"

07 25 00  - TRANSITION MEMBRANE

07 25 00  - TRANSITION MEMBRANE

07 21 00  - MINERAL FIBER BATT INSUL
- MIN 12"

03 30 00  - EXPANSION JT FILLER

COPYRIGHT © 2015 BY LAVALLEE/BRENSINGER PROFESSIONAL
ASSOCIATION. ALL RIGHTS RESERVED.

NO REPRODUCTION WITHOUT PERMISSION.

SCALE:

REVISED:

DRAWN BY:

PROJECT NO:

DATE:

CONTENT:

Project Phase

2 3 4 5 6 7 8 9 10 11 12 13 14

F

E

D

C

B

A

G

H

I

J

1

155 Dow Street, Suite 400, Manchester, NH 03101
40 Cambridge Street, Charlestown, MA 02129
NH: 603.622.5450  MA: 617.398.2035 www.LBPA.com

 3" = 1'-0"

10
/16

/20
15

 2:
49

:45
 P

M
C:

\P
ro

jec
ts\

13
-0

59
-0

0_
Th

e P
ar

k D
an

for
th_

R1
5_

10
-0

8-
20

15
_s

co
tt.t

im
mo

ns
.rv

t

A3.11

13-059-00

06/05/2015

RH

WALL SECTION DETAILS

CONFORMANCE SET

RENOVATIONS AND
ADDITIONS

The Park Danforth

777 Stevens Ave
Portland, ME 04103

 3" = 1'-0"A3.11
J1 TYPICAL WALL BRICK SHELF AT GRADE

 3" = 1'-0"A3.11
F1

TYPICAL FLOOR AT EXTERIOR WALL DETAIL &
STOREFRONT HEAD

 3" = 1'-0"A3.11
J6 TYPICAL EXTERIOR WALL AT FLOOR

 3" = 1'-0"A3.11
F6 TYPICAL WALL AT RELIEVING ANGLE DETAIL

 3" = 1'-0"A3.11
C6 TYPICAL WALL AT 3' ROOF OVERHANG W/CORNICE

 3" = 1'-0"A3.11
J11 TYPICAL BRICK SHELF FOUNDATION AT SIDEWALK

NO. DESCRIPTION DATE

10/16/2015


